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Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Study Ch. 13.1, # 1­4 all

Class Notes

Study Ch. 13.2,  # 9­15, 25, 27, 31
                                   [# 11­17, ~27, 29, ~33]

Homework1 Homework2 

GOALS:
1.  Learn the properties of the χ2 Distribution.
2.  Understand how the shape of the χ2 
     Distribution changes as the df increases.
3.  Be able to find p­values.
4.  Recognize that χ2 tests are right­tailed only.
5.  Use the "Goodness of Fit"  χ2 test to
     compare samples to known or expected 
     distributions.

link to geogebra demo

Chi­Squared distribution,    χ2

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

1.  Not symmetrical:  Right­skewed. 
     On left, starts at 0 on x­axis.
     On right, approaches x­axis as asymptote.
2.  Area under  χ2 Curve = 1
3.  Different curves for different df
     As df increases,     χ2  ­­> normal curve

χ2

Class Notes:  Prof. G. Battaly, Westchester Community College, NY
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Graph Chi­Squared distribution,    χ2, on Calculator

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

1.  Enter into L1:
     1,  3,  5,  10,  15,  30
2.  WINDOW:
      xmin:  ­0.02
      xmax:   50
      xscale:  5
      ymin:  ­0.02
      ymax 0.25  
3.  y=  2nd DISTR  χ2pdf(x,L1)

4.  GRAPH           

     Different curves for different df
     As df increases,     χ2  ­­> normal curve

χ2

1
   3
     5
       10
             15
                               30

df   from 1 to 30

Class Notes:  Prof. G. Battaly, Westchester Community College, NY
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link to geogebra demo

Can use the tables to
estimate the p-value:
If Given:  
test χ2 = 13.094, df = 6

OR,
Can compute the p-value
on the calculator:
p = 1 - χ2cdf (0,13.094,6)
    = 0.0416

0.025 < p < 0.05

Using
p = 1- χ2cdf ( 0, test χ2, df)

p

* Right­tailed only *

http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm
http://www.battaly.com/stat/geogebra/chisquare/
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              Goodness­of­Fit Test

Used to compare one distribution to another.
Requires:
             1.  simple random sample,
             2.  adequate sample size.

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
Class Notes Homework1 Homework2 

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Given Probability:  
.328 
.448
.094
.130

In 1990 the distribution of cars, by type, was:  32.8 % small, 44.8% 
medium size, 9.4% large, and 13.0% larger (eg. SUV).   For a 
recent simple random sample of 500 cars, car type is listed below.  
Has the distribution of car type changed?

Need to compare observed values with 
the expected distribution, 
based on assumptions (prior data, general 
knowledge, etc.)

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
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13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Step 7:  Verbal interpretation

Step 4 :  Find  df = k ­ 1 where k = number of categories
               

Step 6:  Decide: reject H0 or not?
               Reject if test statistic is in 
                         rejection region (tail).

Step 5:  p­value from calculator
  p = 1­ Χ2cdf ( 0, Χ2T,df)
Step 6:  Decide: reject H0 or not?
Reject if                     p  <  α

Assumptions:  1.  All expected frequencies > 1       
                        2.  At most 20% of the expected frequencies are less than 5
                        3.  SRS
Step 1B:  H0:   The variable has the specified distribution.

Ha:    The variable does not have the specified distribution.

Step 2:  Decide α

Step 1A:  Calculate the expected frequencies, E = np
    where n = sample size, p = rel freq or probability; compare to assumptions

O      E    (O­E)   (O­E)2  (O­E)2/E
Step 3:  Compute the test statistic,
          using a table of values:
           

Step 5 :  Find CV(s) on Table VII.

Class Notes:  Prof. G. Battaly, Westchester Community College, NY
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Class Notes Homework1 Homework2 

Chi­Square Goodness­of­Fit   only Right­tailed

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Given Probability:  
.328 
.448
.094
.130

In 1990 the distribution of cars, by type, was:  32.8 % small, 44.8% 
medium size, 9.4% large, and 13.0% larger (eg. SUV).   For a 
recent simple random sample of 500 cars, car type is listed below.  
At the 5% s.l., has the distribution of car type changed?

Need to compare observed values with 
the expected distribution, 
based on assumptions (prior data, general 
knowledge, etc.)

1.  Enter observed data into L1

5.  STAT/TESTS/ χ2 GOF­Test
     Observed:  L1
     Expected:  L3
     df:  #categories ­ 1
     CALCULATE         

2.  Enter expected  probabilities  into L2
3.  Find Ʃx, the sum of observed values

Calculator:  χ2 GOF Test

4.  In the header for L3, compute np:
        L2 x ( Ʃx )      (expected values)

1.  Enter observed data into L1

5.  In header for L4, compute indiv χ2 

     (O ­ E)2 / E,   or
       (L1­L3)2 /L3   using column headings 

2.  Enter expected probabilities into L2
3.  Find Ʃx, the sum of observed values
4.  In the header for L3, compute np:
        L2 x ( Ʃx )      (expected values)

Calculator:   χ2  w/o GOF Test

6.  STAT/CALC/1­Variable Stats/ L4
     Find  Ʃx   
     This is the test statistic,  χ2 
7.  Use critical value or find p from table.
      p = 1­ Χ2cdf ( 0, Χ2T,df)

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
Class Notes Homework1 Homework2 

α

H0:  distribution is same as 1990
Ha:  distribution is different from 1990

http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm
http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm
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13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Given Probability:  
.328 
.448
.094
.130

H0:  distribution is same as 1990
Ha:  distribution is different from 1990

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
Class Notes Homework1 Homework2 

Step 7:  Verbal interpretation

Step 4 :  Find  df = k ­ 1 where k = number of categories
               

Step 6:  Decide: reject H0 or not?
               Reject if test statistic is in 
                         rejection region (tail).

Step 5:  p­value from calculator
  p = 1­ Χ2cdf ( 0, Χ2T,df)
Step 6:  Decide: reject H0 or not?
Reject if                     p  <  α

Assumptions:  1.  All expected frequencies > 1       
                        2.  At most 20% of the expected frequencies are less than 5
                        3.  SRS

Step 1B:  H0:   The variable has the specified distribution.
Ha:    The variable does not have the specified distribution.

Step 2:  Decide α

Step 1A:  Calculate the expected frequencies, E = np
    where n = sample size, p = rel freq or probability; compare to assumptions

O      E    (O­E)   (O­E)2  (O­E)2/E
Step 3:  Compute the test statistic,
          using a table of values:
           

Step 5 :  Find CV(s) on Table VII.

In 1990 the distribution of cars, by type, was:  32.8 % small, 44.8% 
medium size, 9.4% large, and 13.0% larger (eg. SUV).   For a 
recent simple random sample of 500 cars, car type is listed below.  
At the 5% s.l., has the distribution of car type changed?

E= np = 500*.328 = 164

all E > 1
none < 5

∴ assumptions met

E= np = 500*.130 = 65

In 1990 the distribution of cars, by type, was:  32.8 % small, 44.8% 
medium size, 9.4% large, and 13.0% larger (eg. SUV).   For a 
recent simple random sample of 500 cars, car type is listed below.  
At the 5% s.l., has the distribution of car type changed?

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Given Probability:  
.328 
.448
.094
.130

H0:  distribution is same as 1990
Ha:  distribution is different from 1990

p=0.0267 < 0.05 = α    ∴ Rej Ho

Conclude that the distribution of car 
types (sizes) has changed. 1.  Enter observed data into L1

5.  In header for L4, compute indiv χ2 

     (O ­ E)2 / E,   or
       (L1­L3)2 /L3   using column headings 

2.  Enter expected probabilities into L2
3.  Find Ʃx, the sum of observed values
4.  In the header for L3, compute np:
        L2 x ( Ʃx )      (expected values)

Calculator:   χ2  w/o GOF Test

6.  STAT/CALC/1­Variable Stats/ L4
     Find  Ʃx   
     This is the test statistic,  χ2 
7.  Use critical value or find p from table.
      p = 1­ Χ2cdf ( 0, Χ2T,df)

Class Notes:  Prof. G. Battaly, Westchester Community College, NY
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Step 7:  Verbal interpretation

Step 4 :  Find  df = k ­ 1 where k = number of categories
               

Step 6:  Decide: reject H0 or not?
               Reject if test statistic is in 
                         rejection region (tail).

Step 5:  p­value from calculator
  p = 1­ Χ2cdf ( 0, Χ2T,df)
Step 6:  Decide: reject H0 or not?
Reject if                     p  <  α

Assumptions:  1.  All expected frequencies > 1       
                        2.  At most 20% of the expected frequencies are less than 5
                        3.  SRS

Step 1B:  H0:   The variable has the specified distribution.
Ha:    The variable does not have the specified distribution.

Step 2:  Decide α

Step 1A:  Calculate the expected frequencies, E = np
    where n = sample size, p = rel freq or probability; compare to assumptions

O      E    (O­E)   (O­E)2  (O­E)2/E
Step 3:  Compute the test statistic,
          using a table of values:
           

Step 5 :  Find CV(s) on Table VII.

p = 1­χ2cdf(0,9.204,3)
   = 0.0267

http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm
http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm
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13.1, 13.2  Chi­Squared Dist, Goodness of Fit

 # 122

Step 8:  Verbal interpretation

          p. 655:    Chi­Squar Goodness­of­Fit
Assumptions:    1.  All expected frequencies > 1       
                        2.  At most 20% of the expected frequencies are less than 5
                        3.  SRS
Step 1:  H0:   The variable has the specified distribution.

Ha:    The variable does not have the specified distribution.

Step 2:  Decide α

Step 3:  Calculate the expected frequencies, E = np
    where n = sample size, p = rel freq or probability

Step 6 :  Find CV(s) using df = k ­ 1 
                and Table VII.

Step 7:  Decide: reject H0 or not?
               Reject if test statistic is in 
                         rejection region (tail).

O      E    (O­E)   (O­E)2  (O­E)2/EStep 4:  Compare values for E to assumptions
             to determine if can use this procedure.
           

Step 5:  p­value from calculator

Step 6:  Decide: reject H0 or not?
Reject if                     p  <  α

Step 5:  Compute the test statistic,
          using a table of values:
           

H0:  distribution is same as 1990
Ha:  distribution is different from 1990

Given Probability:  
.328 
.448
.094
.130

1.  Enter observed data into L1

5.  In header for L4, compute indiv χ2 

     (O ­ E)2 / E,   or
       (L1­L3)2 /L3   using column headings 

2.  Enter expected probabilities into L2
3.  Find Ʃx, the sum of observed values
4.  In the header for L3, compute np:
        L2 x ( Ʃx )      (expected values)

Calculator:   χ2  w/o GOF Test

6.  STAT/CALC/1­Variable Stats/ L4
     Find  Ʃx   
     This is the test statistic,  χ2 
7.  Use critical value or find p from table.
      p = 1­ Χ2cdf ( 0, Χ2T,df)

L1        L3                                L4         L2

1.  Enter observed data into L1

5.  STAT/TESTS/ χ2 GOF­Test
     Observed:  L1
     Expected:  L3
     df:  #categories ­ 1
     CALCULATE         

2.  Enter expected  probabilities  into L2
3.  Find Ʃx, the sum of observed values

Calculator:  χ2 GOF Test

4.  In the header for L3, compute np:
        L2 x ( Ʃx )      (expected values)

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
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Given

df =c ­1=4 ­1=3

1.  Enter observed data into L1

5.  In header for L4, compute indiv χ2 

     (O ­ E)2 / E,   or
       (L1­L3)2 /L3   using column headings 

2.  Enter expected probabilities into L2
3.  Find Ʃx, the sum of observed values
4.  In the header for L3, compute np:
        L2 x ( Ʃx )      (expected values)

Calculator:   χ2  w/o GOF Test

6.  STAT/CALC/1­Variable Stats/ L4
     Find  Ʃx   
     This is the test statistic,  χ2 

7.  Use critical value or find p from table.
      p = 1­ Χ2cdf ( 0, Χ2T,df)

CNTRB = {XXXX.XX  XXXX ...}   ARROW RIGHT
each cell's contribution to test statistic 

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
Class Notes Homework1 Homework2 
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http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm


Chi­squared Distribution & Goodness of Fit          G. Battaly

© G. Battaly 2018 7

April 18, 2018

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
Class Notes Homework1 Homework2 

        Freq         Obs       Exp         (O­E)2/E
NE   0.190     45   
MW  0.229     42  
S      0.356     92  
W     0.225     71   
                    250          χ2 = _____

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

p = 1 - χ2cdf (0,_____,__)
    = ________

Use χ2 GOF test,  or

      p=______ ?  0.05 = α
          Reject Ho or not?
Conclude:  ________________

Geographical Distribution in US Population
At the 5% s.l., has the distribution changed?

all E > 1
none < 5

H0:  geographical distribution in US is as given
Ha:  distribution is different from given

Class Notes:  Prof. G. Battaly, Westchester Community College, NY

Statistics Home Page
Class Notes Homework1 Homework2 

        Freq         Obs       Exp         (O­E)2/E
NE   0.190     45    47.5      0.132
MW  0.229     42   57.25     4.062
S      0.356     92   89.0       0.101
W     0.225     71   56.25     3.868
                    250          χ2 = 8.163

13.1, 13.2  Chi­Squared Dist, Goodness of Fit

p = 1 - χ2cdf (0,8.163,3)
    = 0.0427

Use χ2 GOF test,  or

p=0.0427 < 0.05 = α
         Reject Ho
Conclude:  population 
distribution in US has changed.

Geographical Distribution in US Population
At the 5% s.l., has the distribution changed?

all E > 1
none < 5

   assumptions met
H0:  geographical distribution in US is as given
Ha:  distribution is different from given

http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
http://www.battaly.com/stat/homework/13_2_ChiSquaredDistr.htm
http://www.battaly.com/stat
http://www.battaly.com/stat/classnotes/
http://www.battaly.com/stat/homework/13_1_ChiSquaredDistr.htm
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